

June 16 2023

Boynton Beach Fl 33426 Office: 561-572-2600 Fax: 561-572-2601

Attention: Roberto Travieso City of Lake Park Public Works Director 640 Old Dixie Hwy Lake Park, Fl 33403

**Project: Multiple City Roads Mill and Pave** 

Pricing as per Unit Price Contract below. For breakdown of cost please see attached worksheet.

ROADS INCLUDED	PRICING
Bayberry Dr 8th - 10th	\$31,646.16
Gateway Road	\$73,992.15
N Killian Dr S	\$49,648.03
S Killian Dr S	\$53,450.39
W Jasmine Dr	\$46,527.39
TOTAL:	\$255,264.12

\*\*\*Pricing is based on all roads accepted and performed under same mobilization. Any reduction in scope is subject to a change unit pricing

OPTIONAL ROADS	PRICING
Newman -Reed -Miller 1-3	\$106,099.23

WE PROPOSE to furnish labor and material - complete in accordance with above specifications, and subject to conditions stated herein, for the sum of: \$255,264.12 (Two hundred fifty-five thousand, two hundred sixty-four dollars and twelve cents)

OPTIONAL PRICING: For NEWMAN REED MLLER 1-3 please add \$106,099.23

<u>Accepted:</u> The above prices, specifications and conditions are satisfactory and are hereby accepted. You are authorized to do the work as specified. Payment will be made as outlined above.

Signature:	Date:	
Print Name:	Title:	

All material is guaranteed to be as specified. There shall be a one year guarantee against peeling or flaking of sealcoat material, except that as applied on cracks and oil stains All work is to be completed in a workmanlike manner according to standard practices. Any alteration or deviation from above specifications involving



Boynton Beach Fl 33426 Office: 561-572-2600

Fax: 561-572-2601

June 16 2023

extra costs will be executed only upon written orders and will become an extra charge over and above the estimate. All agreements are contingent upon strikes,
accidents or delays beyond our control. Owner to carry fire, tornado and other necessary insurance upon above work. Our workers are covered by Workmen's
Compensation Insurance.

Χ	Mauro Comuzzi – President	Date:	

# LAKE PARK MULTIPLE ROADS BREAKDOWN

## **Bayberry Dr 8th-10th**

	QNTY	<u>UNIT</u>	<u></u>	JNIT PRICE	<u>PRICE</u>	Item #
Mob	1	LS	\$	8,710.27	\$ 4,127.76	4
MOT Type III	25	EA	\$	34.00	\$ 850.00	11
MOT Type II	20	SF	\$	35.00	\$ 700.00	10
Mill	1603	SY	\$	2.80	\$ 4,488.40	42
1.5" SP 9.5	126	Ton	\$	160.00	\$ 20,160.00	35
24" Thermoplastic	48	LF	\$	7.50	\$ 360.00	157
6" Yellow Thermo	400	LF	\$	1.90	\$ 760.00	153
RPMS	20	EA	\$	10.00	\$ 200.00	171
TOTAL					\$ 31,646.16	

#### Gateway Rd

	<u>QNTY</u>	<u>UNIT</u>	UNIT PRICE	<u>PRICE</u>	Item #
Mob	1	LS	\$9,651.15	\$9,651.15	4
MOT Type III	34	EA	\$25.00	\$850.00	11
MOT Type II	35	SF	\$20.00	\$700.00	10
Mill	3644	SY	\$2.80	\$14,576.00	43
1.5" SP 9.5	287	Ton	\$160.00	\$47,355.00	36
24" Thermoplastic	24	LF	\$7.50	\$180.00	157
12" Yellow Thermo	120	LF	\$4.00	\$480.00	155
RPMS	20	EA	\$10.00	\$200.00	171
TOTAL				\$73,992.15	

### N Killian DR S

	QNTY	<u>UNIT</u>	Ţ	JNIT PRICE		<u>PRICE</u>	Item #
Mob	1	LS	\$	6,475.83	\$	6,475.83	4
MOT Type III	40	EA	\$	34.00	\$	1,360.00	11
MOT Type II	45	SF	\$	35.00	\$	1,575.00	10
Mill 1.5"	3499	SY	\$	2.80	\$	9,797.20	44
1.5" SP 9.5	183	Ton	\$	160.00	\$	29,280.00	37
24" Thermoplastic	96	LF	\$	7.50	\$	720.00	157
12"White Thermo	110	LF	\$	4.00	\$	440.00	155
TOTAL					Ċ	49 648 D3	

# LAKE PARK MULTIPLE ROADS BREAKDOWN

### <u>S Killian DR S</u>

	QNTY	<u>UNIT</u>	<u> </u>	JNIT PRICE	<u>PRICE</u>	Item #
Mob	1	LS	\$	6,971.79	\$ 6,971.79	4
MOT Type III	40	EA	\$	34.00	\$ 1,360.00	11
MOT Type II	45	SF	\$	35.00	\$ 1,575.00	10
Mill 1.5"	3937	SY	\$	2.80	\$ 11,023.60	44
1.5" SP 9.5	196	Ton	\$	160.00	\$ 31,360.00	37
24" Thermoplastic	96	LF	\$	7.50	\$ 720.00	157
12"White Thermo	110	LF	\$	4.00	\$ 440.00	155
TOTAL					\$ 53,450.39	

### W Jasmine Dr

	QNTY	<u>UNIT</u>	Ţ	JNIT PRICE		<u>PRICE</u>	Item #
Mob	1	LS	\$	6,068.79	\$	6,068.79	4
MOT Type III	40	EA	\$	34.00	\$	1,360.00	11
MOT Type II	45	SF	\$	35.00	\$	1,575.00	10
Mill 1.5"	3287	SY	\$	2.80	\$	9,203.60	44
1.5" SP 9.5	172	Ton	\$	160.00	\$	27,520.00	37
24" Thermoplastic	48	LF	\$	7.50	\$	360.00	157
12"Yellow Thermo	110	LF	\$	4.00	\$	440.00	155
TOTAL					\$	46,527.39	

### **OPTIONAL SCOPE OF WORK**

### Newman Reed and Miller 01-03

	<u>QNTY</u>	<u>UNIT</u>	<u>UNIT PRICE</u>	<u>PRICE</u>	Item #
Mob	1	LS	\$13,839.03	\$13,839.03	4
MOT Type III	40	EA	\$34.00	\$1,360.00	11
MOT Type II	45	SF	\$35.00	\$1,575.00	10
Mill 1.5"	5709	SY	\$2.80	\$15,985.20	44
1.5" SP 9.5	450	Ton	\$160.00	\$72,000.00	37
24" Thermoplastic	96	LF	\$7.50	\$720.00	157
12"White Thermo	110	LF	\$4.00	\$440.00	155
RPMS	18	EA	\$10.00	\$180.00	171
	· · · · · · · · · · · · · · · · · · ·		·	4	

TOTAL \$106,099.23